QUICK SORT (HIZLI SIRALAMA)
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SELECTION SORT
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52 |51 |36 I 13 is smallest
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29 | 87 | 66 | 52 | 51 36' 29 is smaliest

13 29 ' 72 | 87 |66 |52 |51 |36 36 is smaliest

swap ———
13| 29 36|7§ 52 |51 |98 51 is smaliest

52 is smaliest

13| 29| 36 | 51 | 52 66 87 |72 98' 66 is smailest
no swapping

swapj
13| 29| 36 | 51 | 52 | 66 |Oa 72 98' 72 is smallest
f————— e et

13| 29| 36 | 51 | 52 |66 |72 | 87 |98 87 is smallest
=== no swapping

13| 29| 36 | 51 | 52 |66 |72 |87 |98 sorting completed




INSERTION SORT
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BUBBLE SORT
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First pass Second pass Third pass
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BINARY SEARCH

1)
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Search the number 7 in the array

Low Mid (7 > 5, consider right half) High
0 1 2 3 B 5 6 7 8 9
(7 < 8, consider left half)
Low Mid High
s loola lal.c
0 3 | 2 3 4
(7 > 6, consider right half)
low=Mid=5 High
1lo 314,5“8 9 10
0 1 2 3 4 5 6 7 8 9
Low = Mid = High=6 (7 is present at the index 6)
1lo ba b ls sis 9 10
0 1 2 3 4 5 6 4 8 9
Search 50
56 > 45

Take 2% half o

50 < 71
Take 1% half
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